Fife Council

Transfers Report

This report contains the transfers results.

Contest Name

Ward 22 - Buckhaven Methil & Wemyss Villages

Valid Votes
Positions to be Filled
Quota

5,105 4 1,022

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Thomas McKenzie Christie ADAMS	Scottish Labour Party	809
Celyn Jean Emlyn ASHWORTH	Scottish Liberal Democrats	117
Susan BLAIR	Alba Party for independence	66
Ken CALDWELL	Scottish National Party (SNP)	1,532
David GRAHAM	Scottish Labour Party	1,248
Brian MILLS	Scottish Conservative and Unionist	330
John O'BRIEN	Scottish National Party (SNP)	890
Jerome VAN LEEUWEN	Scottish Greens - Think Global Act Local	113
	Total	5,105

Candidate Ken CALDWELL Elected with 1,532 votes, being in excess of the quota of 1,022 Candidate David GRAHAM Elected with 1,248 votes, being in excess of the quota of 1,022

Fife Council

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Ken CALDWELL

510.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas McKenzie Christie ADAMS	88	0.33289	29.29432
Transfer to Celyn Jean Emlyn ASHWORTH	7	0.33289	2.33023
Transfer to Susan BLAIR	29	0.33289	9.65381
Transfer to Brian MILLS	10	0.33289	3.32890
Transfer to John O'BRIEN	1,254	0.33289	417.44406
Transfer to Jerome VAN LEEUWEN	33	0.33289	10.98537
No further preference	111	0.33289	36.95079
Not transferred due to rounding			0.01252
	Total		510.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of John O'BRIEN

285.44406

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas McKenzie Christie ADAMS	142	0.21832	31.00144
Transfer to Celyn Jean Emlyn ASHWORTH	26	0.21832	5.67632
Transfer to Susan BLAIR	76	0.21832	16.59232
Transfer to Brian MILLS	12	0.21832	2.61984
Transfer to Jerome VAN LEEUWEN	208	0.21832	45.41056
Transfer to Thomas McKenzie Christie ADAMS	174	0.07267	12.64458
Transfer to Celyn Jean Emlyn ASHWORTH	32	0.07267	2.32544
Transfer to Susan BLAIR	106	0.07267	7.70302
Transfer to Brian MILLS	9	0.07267	0.65403
Transfer to Jerome VAN LEEUWEN	333	0.07267	24.19911
No further preference	426	0.21832	93.00432
No further preference	600	0.07267	43.60200
Not transferred due to rounding			0.01108
	Total		285.44406

Fife Council

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of David GRAHAM

226.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Thomas McKenzie Christie ADAMS	944	0.18108	170.93952
Transfer to Celyn Jean Emlyn ASHWORTH	17	0.18108	3.07836
Transfer to Susan BLAIR	13	0.18108	2.35404
Transfer to Brian MILLS	39	0.18108	7.06212
Transfer to Jerome VAN LEEUWEN	17	0.18108	3.07836
No further preference	218	0.18108	39.47544
Not transferred due to rounding			0.01216
	Total		226.00000